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QUESTION 1

BPEL processes are being used to implement both the service and client sides of a synchronous web service

interaction.
Which statement is true?
A. When acting as the client, a BPEL process may omit the Invoke activity.

B. When acting as the service, a BPEL process may omit the Reply activity.

C. When acting as the client, a BPEL process may not invoke as asynchronous process and wait for a callback.

D. When acting as the service, a BPEL process may not reply to the client with a well-defined fault message.

Correct Answer: D

QUESTION 2

Which two are features of Event Delivery Network (EDN)?

A. JMS-based point-to-point architecture that is based on queues.

B. JMS-based publish/subscribe architecture that is based on topics.

C. support for Oracle AQ as a provider

D. separately installable to allow for flexible deployment

E. support for durable subscriptions so that, in order to receive events, the subscriber need not be running

Correct Answer: AC

QUESTION 3

Which two statements are true about the defined Oracle JMS Adapter outbound connection?
A. It supports connections to JMS distributed queues.

B. It uses default credentials when connecting to the remote JMS provider.

C. It supports zero message loss via distributed transactions.

D. It requires the JMS consumer to explicitly commit transactions.

Correct Answer: AB

QUESTION 4
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You are about to upgrade an environment from SOA Suite 11g to SOA Suite 12cand you want to make sure that you
meet the prerequisites for the upgrade process.

Which two options are prerequisites?

A. The operating system and the JVM must be 64-bit.

B. SOA Suite must be atthe 11.1.1.5, 11.1.1.6 or 11.1.1.7 patchset levels.

C. Oracle Platform Security Services (OPSS) must have been migrated to use the DB or the LDAP-based policy store.
D. The SOA server must be a single-node server so that it is not part of a SOA cluster.

Correct Answer: C

QUESTION 5

After you install the OEP product, which action is required to install andconfigure an OEP domain?
A. Configure the OEP port through the OEP console.

B. Configure the JDBC settings in the config.xml file.

C. Create an OEP domain with the Configuration Wizard.

D. Start the OEP server and enter the administrator credentials when prompted.

Correct Answer: C
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